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auto int a;
static double x;
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int f(void) int f(void)

{ {
int x=0; static int x=0;
X++; x++;
return x; return x;

} }

int main(void) int main(void)

{ {

printf ("answer=%d\n", £f());
printf ("answer=%d\n", £f());
printf ("answer=%d\n", £f());
return 0;

}

printf ("answer=%d\n", £f());
printf ("answer=%d\n", £f());
printf ("answer=%d\n", f());
return 0;

}
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#include <stdio.h>

double add(double a, double b)
{

return a+b;

}

int main(void)

{

printf ("answer=%f\n", add(3.0, 4.0)

return 0;

);
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$ cc protol.c
protol.c: In function 'main':

protol.c:10: error: too many arguments to function
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'add'
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$ cc proto2.c

proto2.c:10: error: conflicting types for 'add'

proto2.c:5: error: previous implicit declaration of
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'add' was here
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#include <stdio.h>
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double add(double fst,
double snd);
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double add(double fst, double snd);

int main(void)

{
printf ("answer=%f\n", add(3.0, 4.0)
return 0;

}

double add(double a, double b)
{

return a+b;

}

);
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double add(double, double);
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int printf(char *format, ...);
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double add();
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